pﬂIETEﬂ’S \M

Our Reputation Is Stainless!

CAB SKIRTS

INSTALLATION INSTRUCTIONS:

275 Industrial Road,
Cambridge, Ontario N3H 4R7
Tel. 519-884-8555

Toll Free 800-331-7952

Fax 519-650-3334

panelite.com ¢ dietersaccessories.com
IATF16949 & 1ISO14001 REGISTERED SYSTEMS

1. Attach the supplied mounting brackets to the cab skirt using the #10-24 x 2" hex head machine screw, the #10 flat

washer and #10-24 locknut provided.

2. Hold the skirt in place along the lower portion of the cab panel. Mark and drill 3/16” holes in the positions where the

mounting bracket lines up with the cab.

3. Attach the cab skirt to the existing panel using the supplied #10-24 x 1" stainless steel carriage bolts, #10 flat washers
and #10-24 locknuts and tighten.

Page 10f3

EXISTING
CAB PANEL

T~

#10-24x 17
CARRIAGE
BOLT, NUT &

/V ASHER

| MOUNTING

_AB SKIRT

~

#10-24 x V2”7 HEX
MACHINE
SCREW, WASHER
& NUT

Fig. 1

[IKW010

08/2004



pﬂIETEﬂ’S \M

Our Reputation Is Stainless!

275 Industrial Road,
Cambridge, Ontario N3H 4R7
Tel. 519-884-8555

Toll Free 800-331-7952

Fax 519-650-3334

panelite.com ¢ dietersaccessories.com

IATF16949 & 1SO14001 REGISTERED SYSTEMS

JUPES DE CABINE

INSTRUCTIONS D'INSTALLATION:

1. Fixez les supports de fixation fournis a la jupe de cabine avec les boulons a métaux hex #10-24 x /2", les rondelles plates

#10 et contre-écrous #10-24.

2. Maintenez la jupe en place le long de la partie du bas du panneau de cabine. Marquez et percez des trous de 3/16” [a ou

les supports de fixation s'alignent a la cabine.

3. Fixez la jupe de cabine au panneau existant avec les boulons a carrosserie en acier inoxydable fournis #10-24 x 1", les

rondelles plates #10 et les contre-écrous #10-24, puis serrez (a quincaillerie.

PANNEAU DE CABINE

EXISTANT \‘

BOULON A CARROSSERIE
#10-24 X 1", ECROU ET
RONDELLE

SUPPORT DE
FIXATION

JUPE DE CABINE 'UJ\
\ BOULON HEX A METAUX

Image 1

#10-24X 1/2" ECROUET
RONDELLE

Page 2 of 3 IIKW010

08/2004



275 Industrial Road,

. ® Cambridge, Ontario N3H 4R7

ame L Q Tel. 519-884-8555

)7 Toll Free 800-331-7952
Fax 519-650-3334

panelite.com ¢ dietersaccessories.com

Our Reputation Is Stainless! IATF16949 & 1SO14001 REGISTERED SYSTEMS

FALDA DE CABINA

INSTRUCCIONES DE INSTALACION:

1. Coloque los soportes de montaje provistos a a falda de cabina usando tornillos hexagonales de maquina #10-24 x 2",

arandelas planas #10 y tuercas provistas #10-24.

2. Sostenga la falda en su lugar a lo largo de la porcidn inferior del panel de cabina. Marque y perfore agujeros de 3/16” en

las posiciones donde los soportes de montaje se alinean con la cabina.

3. Coloque la falda de cabina al panel de existente usando los tornillos provistos de acero inoxidable #10-24 x 1", arandelas
planas #10, y tuercas #10-24 y apriete.

TORNILLOS
PANEL DE #10-24 x 17,

CABINA~___| ARANDELA Y
EXISTENTE /TUERC "

| SOPORTE DE

FALDA DE
CABINA TORNILLOS HEX
#10-24 x 157,

\ ARANDELA Y

TUERCA

Page 3 of 3 IIKW010 08/2004



